#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 1 -- Stage 1

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	120	37.55	3.1957	120.0000	100.00	5	Donavon, Chris
2	120	45.34	2.6467	99.3824	82.82	6	Lydon, Mark
3	120	56.52	2.1231	79.7240	66.44	10	Morris, Simon
4	120	70.13	1.7111	64.2521	53.54	7	Willis, Rob
5	120	102.52	1.1705	43.9524	36.63	8	Matthews, Roland

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 1 -- Stage 1

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	120	31.03	3.8672	120.0000	100.00	9	Brittain, Rob
2	120	39.90	3.0075	93.3233	77.77	11	Davies, Martin
3	120	50.46	2.3781	73.7931	61.49	2	Meddins, Daryl
4	120	65.86	1.8220	56.5381	47.12	1	Evans, Steve

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 1 -- Stage 1

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	120	34.74	3.4542	120.0000	100.00	4	Jiggens, Mark
2	120	71.38	1.6811	58.4029	48.67	3	Marechal, John

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 2 -- Stage 2

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	45	6.97	6.4562	45.0000	100.00	7	Willis, Rob
2	45	7.21	6.2413	43.5021	96.67	6	Lydon, Mark
3	45	9.10	4.9451	34.4670	76.59	10	Morris, Simon
4	45	11.46	3.9267	27.3691	60.82	8	Matthews, Roland
5	45	12.29	3.6615	25.5207	56.71	5	Donavon, Chris

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 2 -- Stage 2

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	45	6.22	7.2347	45.0000	100.00	9	Brittain, Rob
2	45	6.85	6.5693	40.8613	90.80	11	Davies, Martin
3	45	7.15	6.2937	39.1469	86.99	2	Meddins, Daryl
4	45	8.26	5.4479	33.8862	75.30	1	Evans, Steve

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 2 -- Stage 2

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	8.16	5.5147	45.0000	100.00	4	Jiggens, Mark
2	45	9.40	4.7872	39.0638	86.81	3	Marechal, John

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 3 -- Stage 3

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C:#	OMPETITOR Name
1	35	4.82	7.2614	35.0000	100.00	7	Willis, Rob
2	35	5.50	6.3636	30.6727	87.64	10	Morris, Simon
3	35	8.31	4.2118	20.3008	58.00	6	Lydon, Mark
4	35	14.28	2.4510	11.8137	33.75	5	Donavon, Chris
5	35	42.38	0.8259	3.9807	11.37	8	Matthews, Roland

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 3 -- Stage 3

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	35	5.15	6.7961	35.0000	100.00	9	Brittain, Rob
2	35	8.21	4.2631	21.9549	62.73	11	Davies, Martin
3	35	10.27	3.4080	17.5511	50.15	1	Evans, Steve
4	35	16.66	2.1008	10.8193	30.91	2	Meddins, Daryl

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 3 -- Stage 3

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	35	5.83	6.0034	35.0000	100.00	4	Jiggens, Mark
2	35	6.71	5.2161	30.4098	86.89	3	Marechal, John

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 4 -- Stage 4

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	30	5.68	5.2817	30.0000	100.00	7	Willis, Rob
2	30	6.41	4.6802	26.5835	88.61	5	Donavon, Chris
3	30	6.87	4.3668	24.8035	82.68	6	Lydon, Mark
4	30	8.16	3.6765	20.8824	69.61	8	Matthews, Roland
5	30	9.64	3.1120	17.6763	58.92	10	Morris, Simon

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 4 -- Stage 4

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	30	4.59	6.5359	30.0000	100.00	9	Brittain, Rob
2	30	5.37	5.5866	25.6425	85.47	2	Meddins, Daryl
3	30	6.08	4.9342	22.6480	75.49	1	Evans, Steve
4	30	6.78	4.4248	20.3097	67.70	11	Davies, Martin

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 4 -- Stage 4

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	30	7.27	4.1265	30.0000	100.00	_	Jiggens, Mark
2	30	7.77	3.8610	28.0695	93.56	3	Marechal, John

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 5 -- Stage 5

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	65	20.21	3.2162	65.0000	100.00	6	Lydon, Mark
2	65	23.85	2.7254	55.0797	84.74	7	Willis, Rob
3	65	28.44	2.2855	46.1902	71.06	10	Morris, Simon
4	65	30.89	2.1042	42.5267	65.43	5	Donavon, Chris
5	65	54.87	1.1846	23.9411	36.83	8	Matthews, Roland

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 5 -- Stage 5

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	65	15.13	4.2961	65.0000	100.00	9	Brittain, Rob
2	65	20.11	3.2322	48.9035	75.24	2	Meddins, Daryl
3	65	30.02	2.1652	32.7598	50.40	1	Evans, Steve
4	65	49.23	1.3203	19.9766	30.73	11	Davies, Martin

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 5 -- Stage 5

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	65	18.47	3.5192	65.0000	100.00	4	Jiggens, Mark
2	65	26.14	2.4866	45.9277	70.66	3	Marechal, John

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 6 -- Stage 6

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	65	18.07	3.5971	65.0000	100.00	10	Morris, Simon
2	65	19.70	3.2995	59.6218	91.73	6	Lydon, Mark
3	65	21.02	3.0923	55.8777	85.97	5	Donavon, Chris
4	65	32.86	1.9781	35.7441	54.99	7	Willis, Rob
5	65	74.39	0.8738	15.7891	24.29	8	Matthews, Roland

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 6 -- Stage 6

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	65	13.70	4.7445	65.0000	100.00	11	Davies, Martin
2	65	15.06	4.3161	59.1301	90.97	1	Evans, Steve
3	65	16.22	4.0074	54.9014	84.46	2	Meddins, Daryl
4	65	18.78	3.4611	47.4175	72.95	9	Brittain, Rob

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 6 -- Stage 6

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	65	15.13	4.2961	65.0000	100.00	4	Jiggens, Mark
2	65	27.43	2.3697	35.8531	55.16	3	Marechal, John

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 7 -- Stage 7

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	45	16.57	2.7158	45.0000	100.00	7	Willis, Rob
2	45	16.95	2.6549	43.9911	97.76	5	Donavon, Chris
3	45	21.24	2.1186	35.1059	78.01	10	Morris, Simon
4	45	23.82	1.8892	31.3035	69.56	6	Lydon, Mark
5	45	67.06	0.6710	11.1191	24.71	8	Matthews, Roland

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 7 -- Stage 7

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	45	13.71	3.2823	45.0000	100.00	9	Brittain, Rob
2	45	14.96	3.0080	41.2400	91.64	2	Meddins, Daryl
3	45	19.14	2.3511	32.2335	71.63	11	Davies, Martin
4	45	25.51	1.7640	24.1846	53.74	1	Evans, Steve

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 7 -- Stage 7

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1	45	17.34	2.5952	45.0000	100.00	4	Jiggens, Mark
2	45	26.20	1.7176	29.7824	66.18	3	Marechal, John

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 8 -- Stage 8

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	60	14.40	4.1667	60.0000	100.00	6	Lydon, Mark
2	60	14.55	4.1237	59.3814	98.97	5	Donavon, Chris
3	60	16.86	3.5587	51.2456	85.41	7	Willis, Rob
4	60	20.98	2.8599	41.1821	68.64	10	Morris, Simon
5	60	36.31	1.6524	23.7951	39.66	8	Matthews, Roland

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 8 -- Stage 8

	PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT	C( #	OMPETITOR Name
1	60	11.78	5.0934	60.0000	100.00	9	Brittain, Rob
2	60	12.46	4.8154	56.7255	94.54	2	Meddins, Daryl
3	60	14.04	4.2735	50.3419	83.90	11	Davies, Martin
4	60	17.89	3.3538	39.5081	65.85	1	Evans, Steve

#### Feb 2023

Printed March 5, 2023 at 13:47



# Stage 8 -- Stage 8

PTS	TIME	HIT FACTOR	STAGE POINTS	STAGE PERCENT		OMPETITOR Name
1 60 2 60		5.8252 3.4091	60.0000 35.1136	100.00 58.52	4	Jiggens, Mark Marechal, John